Mathematics 10D

Properties of Quadratics

Mr. D. Hagen

Mathematics 10D Q.01 Properties of Parabolas/Quadratics
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- Quadratics are the equations. b #XFW@_

- Parabolas are the graphs.

There are three equations of quadratics.
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Properties of Parabolas
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Mathematics 10D Q.02 — Zeros/Factored Form
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Given the standard form, find the zeros then the vertex.
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Given the standard form, find the zeros then the vertex.
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Given the graph, state the equation of the parabola in both zeros form and standard
form, then state the y-intercept.
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A parabola has a zero at (3,0) and a vertex at (5,12). State the equation of the
parabola in both zeros and standard form.
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Mathematics 10D Q.03 — Vertex Form
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Convert from Vertex form to Standard form </ st do 0{7/1) rca.
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Convert from Standard form to Vertex form v '~ "Aé Zeéros \QM »n.

y=ﬁﬁ2+24x—64 Swtc“’/"*"J F;_o {Jc{?/) C;},v//‘z/zﬂﬁ/ jgf‘//;’ag) //‘8 4'/:'1/;,
.~ 16

\/= 7(x%+ bx -/é) ”}, ¢ h1¢

7 -2, ¥
\/: iuyx ,Q) /)(,.,L 8) zeros

x=R X=78
Aos: b= 257 -3 y = olsc—h) "+ k

L 2 L .
pey = 1) <MD =0 | g+ 3) ~1oo
>/: gé “7; ﬁé&/ —

- ~/0o0=K N 7 o zem

¢ i
T 12 VQ//‘O)& /'3 (‘;3 )'—L()ca ::ka:f
4l




Write the equation of the parabola in vertex form
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A parabola has & zero at (3 0) ;nd a vertex at (5,12). State the equation of the
parabola in both veriex standard form.
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Mathematics 10D Q.04 — Graphing Quadratics ]C m e (/é(yé@( Qfm
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Mathematics 10D Q
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Convert from Standard form to Vertex form by completing the square,
then state the vertex.
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Let’s do another!
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Uh oh, we have decimals! No worries!
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